—~UNIVER-

' TECHNICAL CHARACTERISTICS " [ Flow rate characteristics

Ambient temperature -10 ++90°C P (bar) PA (bar)
Fluid temperature max +50 °C 10
Fluid not dehumidified filtered air 50 pum, lubricated or not + \
Commutation system poppet system 8 ™ "
Ways/Positions 2/2NC, 3/2NC, 2/2 NO, 3/2 NO T \
6 8
Pressure max 10 bar N
Control manual, mechanical | \
. - 4 I
Return mechanical spring 1 \| \
I
Connections M5, tube @4 5] 2 |
~\ N
Nominal @ 2,5mm + \ I\
1 1 1 1
Nominal flow rate (NI/min) 70 NI/min T LI !
0 50 100 150 200 250
Qn (NI/min)
Valve body zamak )
Seals nitrile rubber P =Working pressure
Spool nickel-plated brass PA=Supply pressure

Qn = Flow rate

Poppet valves
N

4_33




ﬁ

g

Servicio

. . i olll
. Pneumatic switches —y
UNIVER GROUP

Ball-push - spring tube @4

N
o
08 (Al
15 (Bl
35 €/

< J@ &3 &N
- © o
=L 2., e g
, L# KCDL\ >i<
-l_ 1 & & © \:\
|
14

3/2NC ‘ZC‘X[ W 10 tube @4 14 0,060 Al-9000 6 16

2 30
3/2NO 12 CM\M 10 tube @4 14 0,060 Al-9010
3 1
2 Pre-stroke 1 = Supply port
a2ne o] [ fwe wbeos 14 0060 AI-9020 Maximum opening 2= Use
1
Total stroke 3= Exhaust

2/2NO R tube @4 14 0,060 Al-9030
ano vl [ fne e
I Ball-push - spring M5

N
08 [Al
15 (B!
35 [Cl

15
%
U
m
3:
R

10
11 _‘H 11
>
(o
O
N &
RS &
8
N
A

11
G
J

L1

16
3/2NC  ®2 Cm w10 M5 14 0,060 Al-9000M 30
3/2NO ‘Zcmw\rw M5 14 0,060 Al-9010M

31 Pre-stroke 1 = Supply port
2
) ) U
2/2NC 'zcmjmw M5 14 0,060 Al-9020M Maximum opening 2= Use
! Total stroke 3 = Exhaust

2/2NO 12 1 M5 14 0,060 Al-9030M
2no | [ | o
[ Rollerlever - tube @4 20

5
o o 212 ©
©o o ©
4@7&2/
(=] il
J/ ]
g
& 3 i
2 =L 24 © i
R, — & ; )
< m M5x2
& O w2
- 33
] . L § \ES/ ® D
° LH " 7z > <
~ Symbol  Connection  Force(@)  Weight  Partno. NS 1\ © N
3/2NC ﬂﬂ M“ tube @4 7 0,085 Al1-9100 87| |\ 14
1
2 6 16 14
3/2NO ‘zmw tube @4 7 0,085 Al-9110 30
3 1
2
2/2NC mmw tube @4 7 0,085 Al-9120 Maximum opening 1= Supply port
; Total stroke 2= Use

3 = Exhaust
2/2;[50 'Zﬂ Mw tube @4 7 0,085 Al-9130

(a) =at 6 bar (b) = upon request 2/2 NO version

4 34




ﬁ

g

Servicio

. . - onll
. Pneumatic switches —y
UNIVER GROUP

Roller lever - spring M5 20 £
@ o @12 ©
O o ©
W/
g —~ -
g X
© £
E INEEAy
“ o4 0 i
< T N M5 [F——1
M5 | 3
: s e
. L e ALY
J
e
© >>(><<
7

3/2NC 12@:15[ w10 M5 7 0,085 Al-9100M

: \ 23 14
2 16 14
3/2NO umw M5 7 0,085 A-9110M 2
3 1
2
2/2NC 'zmw M5 7 0,085 Al-9120M
! Maximum opening 1= Supply port
[C] Total stroke 2= Use
2/(2b§lo uﬂjmw M5 7 0,085 Al-9130M 3 Exhaust
[ Uni-directional roller lever - spring tube @4
P g i
E
2 20 Q\ 13
o
i o % 3 il L n
SN
[ 235
o o/
] = £ [}
. 2 /T 24 bﬂ 0
! / ——n| &
D — c o4 ©
&, N\ S ==
| Symbol  Connection  Force(a)  Weight  Partno. T 3 %
SN K . L > = w\
o LH /O >>‘<<
3/2NC 12W e tubegs 4 0085 AK9200 A {}R © @
. L
3/2NO uWw tube @4 4 0,085 Al-9210 e 7 N@3 14
I 6| 18 14
2
2/2NC 12@ ©  tube @4 4 0,085 Al-9220 .3
1
Maximum opening 1= Supply port
2/2N0 R@I}/wo tube @4 4 0085  Al9230 C|Total stroke 2= Use
(b) 3 = Exhaust
[" " Uni-directional roller lever - spring M5
™ © £ 13
©| o 20 ©

n

39.5

67.5

Poppet valves

1
I
Jah

R R I R
%
3/2NC ﬁbﬁﬂ e 0085 A9200M w{}lr\
\%
67| \e3
3/2NO ﬁbﬂjzwu Ms 4 0085  AL9210M = 14

10
N\

/ | 3 i
S \
235

) 212 'y\:X\X, |

RO o
m M5 —
< (7 Bt —_
3-
10 M5 4

3 1 16 14
2
2/2NC ‘2m 10 M5 4 0,085 Al-9220M 30
1 Maximum opening 1= Supply port
2/2NO ﬂ%ﬁj}mw M5 4 0,085 Al-9230M  [C] Total stroke 2= Use
(b) 3 = Exhaust

(a) =at 6 bar (b) = upon request 2/2 NO version




ﬁ

g

Servici

. . i olll
. Pneumatic switches —y
UNIVER GROUP

Mechanical push button with screw mounting - spring tube @4

20
2
o 1y 1
M12x1 o - o
8 )
o4
24 8
< in
0 kb 1 e =
- r —I ?\\x / ©
~ Symbol  Connection  Force(a) ~ Weight  Partno. L2
N ke F Q
g
V!
3/2NC 12 Cm R tube @4 14 0,082 Al-9300 % T
1 6| 7 \ 23 14
2 6| 16 14
3/2NO ‘ZCmWW tube @4 14 0,082 Al-9310
31 30
2
2/2NC 12C‘:Djlw1° tube @4 14 0,082 Al-9320 Pre-stroke 1 = Supply port
! Maximum opening 2= Use
3 = Exhaust
22N0 CE[]WV ©  tube@4 14 0,082 A1-9330 Total stroke
(b) [D]wrench 14

[ Mechanical push button with screw mounting - spring M5

20
2
© 0 ['e)
M12x1 3 3 =

HECECE
. 2
65

i M5
‘ j & C\\J o )

- 33 "“/ ©
2 g - \
| Symbol  Connection  Force(a)  Weight  Partno. o 5 ;i
N K -
e ° 7/
3/2NC 'zcm MW M5 14 0,082 AI-9300M =N ‘
; 67| \ 23 14
3 16 14
3/2NO 'ZCMWO M5 14 0,082 AI-9310M
31 30
2
2/2NC 'Zcmjmw M5 14 0,082 A1-9320M Pre-stroke 1= Supply port
! Maximum opening 2= Use
3 = Exhaust
2/2NO 'ZCE:[ Mw M5 14 0,082 Al-9330M C|Total stroke
(b) [D] Wrench 14

(a) =at 6 bar (b) = upon request 2/2 NO version

4_36




—

Servici
. Pneumatic switches ;:Irtslé_/ej;ig
[ Button-spring tube @4 M
24 17
o 20
© N

25

==
> (&
g
J R
il

10

6 16
3/2NC ‘iim W 10 tube @4 7 0,065 Al-9350

1 30
2
3/2NO 'm 0 tube 04 7 0,065 A1-9360
I Maximum opening 1= Supply port
2 Total stroke 2= Use
2/2NC 'm w0 tube @4 7 0065  Al9370 3 Exhaust

2/2NO ‘;;E:[jm " tube 04 7 0,065 Al-9380
(b)

Button yellow colour

[ Button-spring M5 41

24 17

63 (8
23 (¢l

25

1
(@
&
PN
\\%‘
16
5.

10

_K.\\
N
N

8

~~

- \{

AL

12 10 16
3/2NC M5 7 0065  Al9350M

1 30
2
3/2NO ‘m o M5 7 0,065 Al-9360M
31 Maximum opening 1= Supply port
2 Total stroke 2= Use
2/2NC @,C[Djm 10 M5 7 0,065 Al-9370M 3 = Exhaust

2/2NO @,ZE[]M 1 M5 7 0,065 Al-9380M
(b)

Button yellow colour

Poppet valves

(a) =at 6 bar (b) = upon request 2/2 NO version

4_37




—

Servicio

. . | ) L1}
. Pneumatic switches el
UNIVER GROUP

Mechanical push button for panel mounting - spring tube @4

39.5
33
20
5 M3x22 24
= Ak
n| r 2 nmmgl
preassey ===y
< ff"", A 24 ©
o {9 A\ y N\
¥ [ bl e N
3/2NC 12 10 tube @4 14 0,075 Al-9400 2 D
ijvw ube ° LH @& >;<<
3/2NO 12CMM10 tube @4 14 0,075 Al-9410 1 1 W 69]@ ® \EDJ
ube X -
2 6|7 23 14
2/2NC ‘ZC‘ W\ 10 tube @4 14 0,075 Al-9420 6 16 14
: 30
1= Supply port
2/(2b|)‘10 ‘ZCE[]WV 10 tube @4 14 0,075 Al-9430 2= Use
3 = Exhaust
[ Mechanical push button for panel mounting - spring M5 s0s
33
20
5 M3x22 24
h Ak
n| o2 %%j
M5 ©
- ([ I LN °
- Symbol  Connection  Force(a)  Weight  Partno. | N Ve
N N
T ———E——— ) e 0y

10
Sl
"

3/2NC ‘ZC‘X[ WA 10 M5 14 0,075 Al-9400M
]\ 7
Q 7/
3/2NO 'Zcmww M5 14 0,075 Al-9410M a B
N2

3 1 6|7 23 14
! 16 14
2/2NC 'zcmjmm M5 14 0,075 Al-9420M 2 1 = Supply port
: 2= Use
2/2NO ‘ZCE[]M © M5 14 0,075 Al-9430M 3 = Exhaust
(b)
MANUAL ACTUATORS

EBLACK Al-3511Q EBLACK Al-3522Q

BRED Al-3512Q
I,
Rotating &[

Recessed BGREEN Al-3513Q
lever

button
|: selector EBLACK Al-3523Q
BWRED Al-3514Q

EBLACK Al-3516Q &[

Head G:[ HBLACK Al-3524Q
button MRED Al-3514QD Lever
EMBLACK  Al-3516QD operator ; .

E

MGREEN  Al-3515Q WBLACK  AF3525Q

BRED Al-3517Q
HBLACK Al-3519Q Omni-
directional

operator

Button

1L

i

HBLACK Al-3526Q

EBLACK Al-3520Q

IE

Rotating

selector | 'mgiack  AI3521Q Push-pull

operator

1L

=

(a) =at 6 bar (b) = upon request 2/2 NO version
For actuator dimensions refer to section “Accessories>Actuators”

4_38






